50, will be treated as malpractice.

blank pages.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining
2.

‘ jé;yrrevealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Third Semester MCA Degree Examination, Dec.2014/Jan.20135
Computer Networks

Time: 3 hrs. Max. Marks: 100
: Note: Answer any FIVE full questions.
*‘i«f ‘g What is computer network? List and explain the different types of network bas &'ﬁ scale
jﬂ: - with suitable examples. Marks)
b. ¢ With a neat diagram, describe the functionalities of each layer in the OSI mode& (10 Marks)
P
2 a An’f gage with 1024 x 768 pixels with 3 bytes / pixel. Assume i bl'é uncompressed.

How "'ﬁ,_:_ takes to transmit it over 56 kbps modem channel? Ovesz/ bps cable modem?
Fd

v ethemet" (06 Marks)

b. Explain the " ial cable and optical fiber with their applicat Q/ (10 Marks)
c. Ifthe spectrurﬁg} a channel is between 3 MHz — 4 MHz a% R is 251. Find the Shannon
channel capacity. % (04 Marks)

3 a. Define baseband j;__:.______- transmission. Des@e NRZ, NRZ1, Bipolar AM! and
Manchester encoding technigh e by applying on tf‘f}mfonnatwn sequence-101011100.

o %,w {10 Marks)

b.  What is switching? List and exp (& types“‘nfl switching with suitable example. (10 Marks)

G(x)=x" +x +1. Consider the ,‘;ﬁ : sequence 110101101 1
i) Find the codeword co - to the gbove sequence.
i) If codeword has err third bit, wh @es receiver obtain when it does its error

checking? (10 Marks)
b. With a neat diagram, &ﬁ’l the stop and wait ARQand-mention its merits and demerits.

(10 Marks)
5 a. Explain the follo Random Access Protocols: 0
i) CSMA ii) CSMA / CD & (10 Marks)
b. Witha ne@é\@gram explain the frame format of IPy4 header. ’{;Q {10 Marks)
A

a m. ; (10 Marks)

6 a. E‘%?\e token-bucket algorithm in detail. List its differences Leaky — Bucket
‘Q\t an example, explain distance vector routing algorithm. S?" (10 Marks)

o

k,}

<

7.8 " Diagrammatically describe the process for connection establishment and connec‘ﬁ? lease

= using 3-way handshake protocol. ﬁ%ﬂ«s)
Explain the packet format of UDP. (05

c. Explain DNS with example. 05 Ma%

8 Write short notes on:

ARPANET

WWW

NAT

ARP (20 Marks)

e oR
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